QUANTITATIVE METHODS —II

e [Maximum Marks : 100
Note :Et::er:g%l:z]qucstion each from Sections A, B, C and D'ecarrying 15 marks each and the entire
"Section E consisting of 10 short answer questions.carrying 4 marks each.
Section - A
= - Jx=2 ve that f{y) =x
1. (@) Ify=flx)= ax—7 P© %
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200 women., it was found that 90 sec serial A, 60 see serial B and 104 see
®) ;gr?u?%r.‘{g{ s?efe both A and B, 30 sec A and C, 15 see B and C and 12 see all the three serials.

Find : )

i) Number of women who see at least one serial.

%il) Number of women who see none of these serials. 510
]

(a) Find the derivative of y w.r.t. to X ;

y=log|:x+3+\lx1+5x+4:|_

(b) IfP= 121 _ 1, find output level at which total revenue is maximum, also find maximum

q+4 .
revenue. 7.8
. Section- B
%a% Define orthogonal matrix with example.
b) Solve the equations by using matrix method :
2X — y++ 32; 9
X+ z=
x-y+z=2. 3,12
a Expfain the properties of Arithmetic Mean. .
b) If median = 33.5 and mode z = 34, find missing “requencies:
Classes : 0-10 10-20 20-30 3040
Frequency : 4 16 X *
Classes : 4040 50-60 60-70 otal
Frequency : z 6 4 230 5,10

Section - C
Calculate the coefficient of correlation by Product Moment mmethod between the Density of
opulation and Death rate :

ities Area in (sq. km.) Population (000) No. of deaths
A 200 40 480
B 150 75 1200
C 120 72 1080
D 80 20 280 15
{ag Explain the properties of regression coefficients.
b) The following data about sales and adventisement expenditure of a firm :
Sales Adv. expenditure
. . gRs. crores) SRs. crores)
Arithmetic mean 0 0
Standard deviation 10 2

Correlation coefficient = 0.9

Estimate . '

Eg) Likely sales for'a proposed advertisement expenditure of Rs. 14 crore.

1) Advertisement budget if the company wants to achieve a sales of Rs. 70 crore.

»

) L Section - D :
ggoas straight line trend by the method of Least square. Also estimate the production for the year
Years : 1999 2000 2001 2002 2
Production : 25 40 47 59 6303 %([)}04
tonnes '
ig} (\:zfllny Ilfi?hgprl'_? mtlztl:iod is known as antalglealfldex ?
alculate Price Index using most sui it sati i
Cuculie Price Index using mos uitable formula and also show that it satisfies the time
B i 2005 2008
Comm:dmﬁ ZPnce E[:]cpcnditure sPn'ce Expenditure
B 4 16 8 Z[sl
C 1 10 2 24
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D 5 25 10 60
3,12
Section - E
Answer all the following :

a)  Distinguish symmetric and skew-symmetric matrices.
Explain seasonal variations,

Explain the relationship between mean, median and mode.
Mention the properties of standard deviation.
e) Distinguish equal and cguivalcnlsets.
What 1s probable error *
Describe the essentials of good average.
!; Explain the Explicit and Implicit functions.
Find derivative of y = x*. 10%4=40

Punjabi Version

T8, en3 A ey Ra-Rayrsad | Jea e 2 15Wa 6 | IaTg AT fey feg 10/
g3vTB s 4-4riaiR T3 | o
3 -

5
(@ #y=flx)=— foadfafy)=x

(b) 200%iaF 2 fea Aaeye fzv. fe ust ar fa 90 Hidin s A TSI T5, 60 HighHS B Tushif
T M3 104 g C uen 6 | 34, A 3 B B2 Ay 76, 30, A M3 C TUE T8,
16, B %3 C oyewi g& m3 12 A 33 HidhiE Suednf 06 | u374:
(i) gzt fared) frager wie-3le fea Hidh@ daeiias |
(if) + ezt A fore faoghvi feast Hidhsi fogt Al < adt Sueingi | : 5.10
(@) y,wrttox; © derivative U3'dd:

Tx —

y=log[x+x +3 x2+5x+4]

(b) * P=_'314-—|. output 03 u1 43 it 96 BaTs 13 3 30 3, AI T A BT @ AT A |
q+
7.8
(a) Orthogonal matrix ¥ @gee Afa3 Yam fe@ |
(b) Matrix fetl 293 Q equations JF 9.
2x—y+3z=9
x+y+z=6
X—y+2z=2 / 3, 12
(a) widENfed WiRg S € fenfmr ad | _
(b) 7 W= 33.5 w3 §gSA z= 34, BU3 frequencies U3 4
oA 0-10 10-20 20-30 3040
nifead] 4 16 X y
S : 4040 50-60 60-70 Is
wifeasl : z 6 4 230
5,10
391 - € _
o5 i 9 wa3r w3013 28 Product Moment fedt gmirar fg-Hedd € I8 (Coefficient) = farm
o9
1A 834 (sq. km.) m&ooo) aad w3t foret
0 480
g %{5)3 75 1200
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C - 120 72 1080

D 80 20 280 15
(a) UT=d36 g © I o fenitp ad |

(b) fexgoH ot feadl W3 fefamius vad o3 35 fsd a3 oa

feadl fefammus ya9

(@R ) (R ad)
nifgaRfea WR3 50 ' 10
ufgH fegss 10 2
rforEy I =0.9
WEHTS &G
(i) 143@3&@@%3%31@3?#@%&3%8&@&
(i) kﬁmmmmﬁmaﬁam@éf&afem?ﬂ%ﬁ%mwaﬁéﬁl 5,10
Leastsqumeeil‘erﬂwtaﬁﬁcﬁ%wq&'aﬂﬁzaal A8 2005 BE1 63UTas T d migHs &G :
s 1999 2000 2001 2002 2003 2004
G3ues 25 40 47 59 68 80
(eatfem)

(15)
(a) fewa fedt g fex nivea index fa@* wfenr wigd ?
(b) F3 T I SOHS TI3 A a3 index T foAEBE M3 feu fa fea time reversal M3 factor

reversal test 3 ﬁ's'ﬂ? I

2005 2008
A 3 S C) Sz Yag
A 2 40 5 75
B 4 16 8 40
C 1 10 2 24
D 5 25 10 60
3,12
gdl-d
Ja fat A yrst @ €34 fel
(@) Symmetric »3 Skew-symmetric matrices €9 "33 AlfAE 9 |
(b) Seasonal variations =t g |
(c) win3, Wit w3 sgaa feu Ada  fenpfltpn a3 |
(d) Maxima M3minima S WEREE & faga ad |
(e) Ul feoss 2 ae o fomftmrad |
() +Equal ™3 cquivalent sets ffg »3a A a3 |
(g)~. Probable error it d ?
(h) TRz SnEAI I3 T EIE5 T3 |
(i) = Explicit »3 Implicit arawi € fenrftmraa ) -
()Y y=x* € derivative U37dd | 10x4=40
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